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2019(Even)

Time : 3Hrs. Sem. IV - M/Auto
TOM & M
Full Marks :70

Pass Marks : 28

Answer all 20 questions from Group A, each question
carries 1 marks.

Tu-Ad a+l 20 ¥l @ IR <, UAS U BT A 13752 |
Answer all Five questions from Group B, each question
carries 4 marks.
4u—B & 9 uia y¥l @ SR <, UAD U BT 44 4 3B 2 |

Answer all Five questions from Group C, each question

carries 6 marks.

7u-C & it ufg 9ol @ SR <, TAS U &1 A9 6 AFH 2 |

All parts of a question must be answered at one place in
sequence, otherwise they may not be evaluated.
TP Ued & 9] I BT SR UP &l oiE (AR HH H)

BIFT 1Ry, 3=gem 4 wiid -2l off 9ad 2 |

The figure in right hand margin indicate marks.
< ued & 3id Yuiie & qad @ |
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11. Write a short note on any two 6

(a) Slip and creep in belt.
(b) Hydraulic dynamometer.
(c) Centrifugal clutch.

fosft 1 w dfgra faavoft foe
(31) dec ¥ U vd Hig

(@) ssgifad srAATHCR
() A= Fer4 |

OR(3721d)

The turning moment diagram for a multicylinder
engine has been drawn to a scale 1 mm =300 N-m
vertically and 1 mm = 6° horizontally.

The intercepted areas between output torque curve
and mean resistance line from one and +52, -124,
+92, -140, +85, -72 and +107 mm?2 when engine is
running at speed of 600 rpm. If fluctuation is not

to exceed + 1.5% of mean speed . Find mass of
flywheel of radius 0.5 m.

Udh Acciffifersy g4 @ <f+r 9=
ST Har mar forad it = 300 Nom
Sy aur 1 el = 6° éfder | afta aawa
crd & dor 7y e dfdd R 452,
—124, +92,—140,+85,—72, dAT +107 2 2|
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(i)

(iif)

(iii)

(iv)
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MdATHER Bs &I MddR g o fa
.............. frafaa fa &1 Serevur 2
(31) wadryd®

(@) gofa:

(|) siera:

(<) srefa:

Crankshaft rotating in the journal bearing
of an engine forms a ............... pair

(a) Screw

(b) Turning

(c) Spherical

(d) Rolling

Udh Foid BT H-HIMUC ke fqaRka
H gold oxd 999 JH gl
2 |

(31) ©r

@) efr

(&) WRe

(=) fei

Tooth gearing is an example of ...........
pair.

(a) Lower

(b) Higher

(c) Sliding

(d) Spherical

P.T.O
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OR(3721d)

Find the lift of sleeve of equal sided porter
governor of length 25 cm and radius of rotation at
lowest and highest positions 10 cm and 15 cm
respectively.

G JoITdTel 9IdR a9 & HoIl &) oarg
25 9 8 91 T U9 SR & WHEl W)
roarst @1 A 10 QW g 15 QM 2, O
Toild ¥ forge forord |

What are the different types of governor & Write
comparison between governor and flywheel.

TqHx fbdd bR & BId 2 | Ta4x qoIr
Tolls DIl & Il A X W DY |

OR(3721d)

A rope drive transmits 170 HP form pulley of
1.5 m diameter at 90 rpm . The safe pull in each
rope is 75 kg . The angle of lap = 160°, the groove

angle 45"and 1= 0.3 then find the number of ropes.

U &l Are{ H 1.5 Wl A9 9red Yool 9
90 rpm UX 170 HP @rfad Gaxvr gidm 2 |
TS e BT Y&AT 919 75kg 2 | 9D

BT 160°, A PIVT 45°, u=0.3 & al RFAT
@1 "= e |

N4074

(vi)

(vii)

(vii)

(viii)
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Mg Rerfa A Ruis ST IM9d BIoT
£ A gIar 2 |

(|) Sxrax
(%) SWIad g LT |

Centrifugal tension in belt .............. power
transmission.

(a) Increases

(b) Decreases

(c) Does not affect

(d) None of these

Afepfgy a919 A doc & Afdd GaoT

..................... 2|

(3r) dear

(@) =ecar

(|) yHraRfaa gdar

() SURIad I T8 |

Module is the reciprocal of .................... .
(a) Pressure angle

(b) Circular pitch

(c) Diametral pitch

(d) None of above.

P.T.O
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5.

Write comparison between belt and chain drive.

doc dAT A9 gRETad ¥ = ford |

4

OR(3721d)

Find the power transmitted by a belt running over
a pulley of 600 mm diameter at 250 rpm. The
coefficient of friction is 0.2, angle of lap is 150°
and maximum tension in belt is 2500 N,

Udh doc g3 ufdad G901 faTd, o9 goell
$T ¥ 600 Bl 2, 250 rpm TR W @ B |
gy UME 0.2 AU HIVT 150" dAT IAfIHaA
19 2500 N 2 |

Write the classification of followers in cam drive.

»q gRAETe ¥ BIe3R &1 aiffdvor & |
OR(3721dT)

What are the causes of vibrations in machine?
Discuss their harmful effects and remedies .

IA A T D PI—hI d BRI & ?
S BIfNTPR® 9HTd a1 fAIRTHROT B1
qof Y |
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U & SR doc |Igd BT AT U
................ g1 2 |

(@) Tear
(&) swwTfaa Ygdar
(%) SWRIqd dig |

Centrifugal tension in belt acts on .............
side of belt.

(a) Tight

(b) Slack

(c) Both (a) and (b)

(d) None of these

IFTB TATT 9¢€ Do arss
IR yATdl BT 2 |

(37) erze

(@) <relt

(&) <= (31) @2 (9)

(%) SWRIad &I LT |

When the sleeve of a Porter governor moves
upwards, the governor speed .............. .

(a) Increases

(b) Decreases

(c) Remains unaffected

(d) Any of the above.

P.T.O
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Answer all Five Questions. 4x5 =20

9l ufg gl & SR o

2.

Define higher pair and lower pair with two

example each.

<l 9ereYell & Wi Swd oilsT a2 foe
SireT &1 aRYTRT &Y |

OR(3124d1)

Determine velocity of a point on a link by relative
velocity method.

o foro o= fodl fag @ w1fa &1 |ma i
ufssar @ fare |

(xv)

(xv)

(xvi)
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(9) qgarn
(%) SWRIdd HIs 8|

The ratio of maximum fluctuation of speed
to the mean speed is called .................
fluctuation of speed.

(a) Maximum

(b) Minimum

(¢) Co- efficient of

(d) None of these

ferean wfa fa=arR a2 wreg 7fa &1

(31) HE<w

(a) T _
(@) diefbfiv=< 3ife
(%) SWRiad &I )

Fly wheel minimises varriation of speed in
engine during ..........ccc.eeveeene. .

(a) Every cycle

(b) Load change

(c) Fuel supply

(d) None of these
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